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This question paper consists of 54 questions in all.

All questions are compulsory.

Marks are given against each question.

Attempt all questions either from Optional Module - 7A or Optional Module - 7B in all sections.

Section - A consists of :

(@) Q. No.1 to 20 - Multiple Choice Type Questions (MCQs). carrying 01 mark each. Select and
write the most appropriate option out of the four options given in each of these questions.

(b) Q.No. 21 to 35 - Subjective type questions. carrying 02 marks each (with 2 sub-parts of
1 mark each). Attempt these questions as per the instructions given for each of the questions.

Section - B consists of :

(a) Q.No. 36 to 46 - Very Short Answer type questions carrying 02 marks each to be answered
in the range of 30 to 50 words.

(b) Q.No. 47 to 52 - Short Answer type questions carrying 03 marks each to be answered in the
range of 50 to 80 words.

() Q.No. 53 to 54 - Long Answer type questions carrying 05 marks each to be answered in the
range of 80 to 120 words.
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Notes /ﬁa'ST :
(1) Answers of all questions are to be given in the Answer-Book given to you.
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(2) 15 minutes time has been allotted to read this question paper. The question paper will be distributed
at 02.15 p.m. From 02.15 p.m. to 02.30 p.m., the students will read the question paper only and
will not write any answer on the answer-book during this period.
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SECTION - A/ ®@US - A

1.  Which one of the following is not a dispute between India and China ? 1
(A) Boundary dispute
(B) Control over Tibet by China
(C) The Non-Aligned policy of India
(D) The occupation of Indian territory by China in 1962
frAfafed & | % w1 foare wrd @ik =i % ot =1 foare 78 €2

(A) EH fererg

(B) fdsad W = =1 frer=on

(C) ¥Ra =t Te-fae ifa

(D) 1962 ¥ < G R &5 I shosll HAl

2. Which reason is responsible for the partition of British India in 1947 ? 1
(A) ‘Two nation theory” propounded by Muslim league.
(B) Demand of the Congress party for the partition.
(C) People of both the religions were not ready to live together.

(D) For good governance of the regions.

frefafead § ¥ &R @ ®Ru 1947 § fafewn st & favsm & fau swereh €2
(A) Hf&m o g giqured ‘fg-ue w1 fagr=i’ |

(B) i Uil gry ferrsH =t AT |

(C) 2T vl % T T TE T Wi T @Al =ed 9|

(D) &6l § GO TIid T |
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3.  Choose the correct option :
SriLanka is situated to the .
(A) North of India (B) East of India (C) South of India (D) West of India

Fﬁﬁw?\[ﬁﬁ:
sfiefent feord © I
(A) MRAFIWHE (B) YRAFTEH (C) YRAFIHUH (D) 9Rd & 9= |

4.  United Nations is an international organisation of .
(A) European Countries (B) NATO Countries
(C) Developing Countries (D) Independent Member Countries
T g Ffafaa § 9 for <9 o1 dmed 82
(A) FUd™ <=0 A (B) I TW
(C) fashrestier 3w =t (D) a9 <3 h
5.  Which one of the following is the correct full form of NAM ?
(A) New Aligned Movement (B) Non Aligned Movement
(C©) Non Assigned Movement (D) Non Alternate Movement
NAM 1 q0f &9 71 § ?
(A) I TS Ho< (B) T TEAES HoH<
(C) T THET o< (D) T 3TeE HoH<
6.  Which statement is the correct explanation of Panchsheel ?

(A) Itisa set of five laws.

(B) These are guiding principles for bilateral relations.
(C) Itisasetof five Countries.

(D) These are the five rules for good governance.

frefafed § @ &9 91 FHo dueial F1 T& AR Hd § ?
(A) I Ui HFH 1 Th TR ¥

(B) IE IWN & o= AT Trarei o Anteste fagra €
(C) 8 df= < ol T TR T

(D) I guA & faw ut= frem )

7.  To which right is the 86" Amendment related ?

(A) Right to Property (B) Right to Education
(C) Right to Religion (D) Right to Equality
gedT Hfaum weleH fohe sifuer & wafe[ €72

(A) wEf i AR (B) foen 1 siferR
(C) uH =l HfHR (D) HHMAT 1 SRR
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10.

11.

12.

Who among the following believed that “As are the means, so are the ends.” ? 1

(A) Mahatma Gandhi (B) Karl Marx

(C) Harold Laski (D) Machiavelli

"SI | B - S 2 e B 3) e W ferent feremd o ?

(A) HETCHT el (B) el T

(C) TS TARhI (D) Herrert

Who among the following had contributed to Marxism Philosophy ? 1
(A) Harold Laski (B) Mahatma Gandhi

(C) Frederich Engles (D) Koerner

frefafad 9 | SiF wreRiaTe 5l T St § 2

(A) BUTS AARhT (B)  HETCHT Tiedt

(C) e Tsied (D) AT

Complete the sentence correctly with an appropriate option. 1
The State is a .

(A) Political concept (B) Economic concept

(C) Social concept (D) Cultural concept

frefafad st 1 frdl T fashed =it TR&da § wal 90 Hifsu |

g Teh |

(A) TSR STEEROT & (B) amfefen Sreremon §

(C) IS STIHRON & (D) Tithideh STIHROM &

Which one of the following is not an element of the State ? 1

(A) Fixed territory

(B) Population

(C) Membership of the United Nations
(D) Government

Trafafea § sF a1 foases To9 1 T 78t © 2

(A) Tafesd sf-vm

(B) SHHEM

(C) FIF TZ HI Feww

(D) WIHRR

Which one of the following organs of the Government enforces laws ? 1
(A) Judiciary (B) Executive (C) Legislature (D) All of the above

THR & FAfArEd 7 § 9 ®F 91 317 HMF AR Il ¢ 2

INERRIREINED (B) hEdIfcTeRt (C) faunfaem (D) IWIe qeff
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68/ESS/1-317-B ] 5 gj‘% [ Contd...



OPTIONAL MODULE - 7A
Jehfedeh HISTA - 7A

13.  Which one of the following statement is FALSE about United Nations ? 1
(A) It can take military action against any country.
(B) It has its own permanent army.
(C) It can authorise any country to use force against any other erring country.

(D) India has provided its military personnel to United States for taking action.
frefafaa § @ HF T U G T2 F 9N H TAq § 2

(A) I forslt <o & foeg ST Frfamdl X Hehdl B |

(B) TER! ST TR H R

(C) =% fordll <3 =l fREl o171 <1 & faes a1 WM i i ST < bl © |

(D) 9RA 7SI T i FEFaTE! & AC SO T F S g €

)

)

14. Which Continent has no permanent member in the Security Council ? 1
(A) Asia (B) Europe (C) Australia (D) America

fora TRTET i1 gRen uive § i Tl 9ee T § 2
(A) TR (B) 4 (C) sieeferan (D) SRR

~

15. To which organ do all the members of United States have the membership ? 1
(A) Security Council (B) Secretariat
(C) General Assembly (D) International Court of Justice

T T2 & 9+ TeH Y T o FohE 37 & 9S8 B § 2
(A) H& UG (B) wfwame™
(C) He™w (D) ST =

16. Which one of the following is not a Human Right ? 1
(A) Right to work in just condition
(B) Freedom of religion
(C) Equality before the law
(D) To be a citizen of any State

frefafea § @ i o1 ifusR A Ifuer & €2
(A)  =arfed gfifefd § wrd o & iR

(B)  wnfHer Terdsrar

(C) A % THE A

(D) Tt off <=1 o1 AMIReR B T Torcdsr
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17. Which international organisation has the objective of maintaining international peace and 1
security ?
(A) The United Nations (B) The International Court of Justice
(C) International Trusteeship System (D) United Nations Commission for Human Rights
Tohd ST TET BT IS TR Wi TR FR&T T T & 2
(A) HIH TZ (B) TR =eert
(C) TR geifm et (D) Hg T AAEIBR ST
18. Which one is the correct full form of NPT ? 1
(A) New Proliferation Treaty (B) Nuclear Non Proliferation Treaty
(C) Nuclear Power Treaty (D) Nuclear Proliferation Treaty
frafafaa & @ o @1 fashed ‘NPT 1 9! fagga &9 €2
(A) = el et (B)  IfeRerR A1 Hreftoher 21t
(C) frX R g2 (D) AfRTR UM 2l
19. Which one of the following is not an organ of the United Nations ? 1
(A) General Assembly (B) Security Council
(C) UNESCO (D) Secretariat
frrfefad o ¥ 1 HgE T2 1 Th 37 T 82
(A) WHEEW (B) HL&m URug
Q) TR (D) WfeTer
20. United Nations was established on 1
(A) 24 October 1945 (B) 24th October 1946
(C) 24th November 1945 (D) 24th November 1946
T AL il TATIAT e g3 oft 2
(A) 24 KR 1945 (B) 24 TR 1946
(C) 24 7T 1945 (D) 24 IR 1946
68/ESS/1-317-B ] 7 %% [ Contd...




13.

14.

15.

OPTIONAL MODULE - 7B
Yehicaeh WISTA - 7B

Choose the correct statement about the Public Service Commissions :

(A) Members are appointed for different periods of time.
(B) Members are appointed by the Home Minister only.
(C) Members are appointed for a fixed tenure.

(D) Members can be removed by the Prime Minister.

A T SR 3 A Frefeted § & w6 e g

(A) HSE I -7 HhTe & fae Fge foran s 21
(B) Te=l =t Fgfaa Tedwt e B

(C) ==l i fgfea ffvaa R o fag =t st g1

(D) U &I G ISHF T Hehell ¢ |

)
)

A Joint Public Service Commission is constituted to work for
(A) One State only (B) Two States only
(C) Two or more States (D) None of these

T A YAl AR 1 TS fohas T o foalg &1 3 & forg fohan <iman & 2
(A) HIA TH T & fog (B) <had &1 Tl o foru
(C) A A G ek TAl &k o (D) W H ¥ forelt & forg =&

Which one of the following is not a feature of UPSC ?

(A) It is neutral.

(B) It is Constitutional body.

(C) It recruits all the employees of the Central Government.

(D) It enjoys Independence.

fr=fafad § 9 = 9t fasivdr =" @ik a1 AN ki T et & ?

(A) TEAH R

(B) I HifaenfTer Heem ¥ |

(C) I8 F=<d TIHR & Feft HH=1fEl i ot e ¥
(D) =% T e (Feem) ¥

16. What type of Bureaucracy do we have in India ?
(A) Committed (B) Neutral (C) Temporary
WA § M 9 THR H A6 82
(A) dfaes (B) e (C) et
68/ESS/1-317-B ] 8
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17.

18.

Which one of the following is not a feature of Political Executive ?
(A) Political Executive makes and takes decisions.

(B) Itis temporary and gets changed.

(C) Political Executive is answerable to Parliament.

(D) Political Executive is neutral civil service.

Frefafea & & &M dF oo TsHifae wriuferen w5t fagrd & €2
(A) TSHITaeh TRt fofa ot T

(B) 98 STeTl Bt © iR See Sl B |

(C) Ig THS % Yfd Sameeg et 2|

(D) ST SRR qe% T Jell © |

Who among the following was the first to develope the concept of Bureaucracy ?
(A) Karl Marx

(B) Pt. Jawahar Lal Nehru

(C) Administrative Reforms Commission

(D) Max Weber
fr=fafaa § 9 forem Ta8 18 ShEet &l ST9YRon i fawfag fear ar?

(A) el T
(B) tfed SR &l 78®
(C) YeHfTeh FHR AN
(D) o 9
19. Who appoints the members of the UPSC ?
(A) Supreme Court (B) Parliament of India
(C) Prime Minister (D) President of India
e i T S 3 Tl ) w2
(A) Felted =A™ (B) WG HHS
(C)  FUH= (D) WRA % Teafd
20. Union Public Service Commission (UPSC) is a .
(A) Legal body (B) Constitutional body
(C) Governmental Agency (D) Social body
T (hErd) e de SE T |
(A) I HEe (B) Wifaenties Heenm ¥
(C) TR Tt & (D) TSR TEe §
68/ESS/1-317-B ] 9
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21. Fill in the blanks correctly : 1+1=2

Marxism is the political philosophy of class and Liberalism is the political
philosophy of class.
Tkt T Ster | R
BICECIC Tl 1 I S § el SqRAG EUCORS Rl CCE
22. Answer the following questions. 1+1=2

(i) Which Act was enacted in 1993 in India to provide for the Constitution of National
Human Rights Commission ?

(i) Which N.G.O. is an organisation related to the protection of Human Rights ? Name
the organisation.

Frefafea gei & s fafen|
() 9Rd ® 1993 § & w1 Afuftay wika foran T on fem T AHaTfieR AR % TS @6
A gered feha ?
(i) TEIHHERT 1 & & fAU HW FA GTEl FE TH R-TIRR T HE G T2 TR AH
fofaT |
23. Answer the following questions. 1+1=2

(i) Name the international conference which was held on environment at Rio.
(i) Name any one harmful pesticide which has been banned to protect the environment.

Frfafea gei & SW fafed |
() S TS T (Hithd) 1 A4 fafae fsem Re aied § 9o ggel qafaRon & 6iefo

R fo=m fwan
(i) freht T BIfTRRE Fieares o1 AW fafey St gafare & deon & fou gfasfad w2 fa
TN
24. Complete the sentence correctly : 1+1=2

(i) People have human rights because they are
(i) Human rights treat all people as

Frefafea e om S 9 /19
() I P AHATEHR I € iR o gl
(i) TSR T A % =T TH AR HL T |
25. Answer the following questions. 1+1=2

(i) Name any one hindrance to good governance.
(i) Name one new technology being used for good governance.

Frfafea gei & W fafaw |
() G & HEE F e Tw wren w1 9 fafa
(i) HIMEA % foe ggaa forelt TR T8 SoTaisht ot AW fafa |

[E5m
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26. Answer the following questions. 1+1=2
(i)  Which type of party system do we have in India ?

(i) By what name are the political parties known which belong to a particular state or
area ?

Frfafea aei & W fafaw |
(i) 9RG ¥ TAR U fRY YRR I <o gomet § 2
(i) T USHITTR Sol bl foRE T8 § ST S § S T &1 foRiy sTean T69 9 9y W@ | 2

27. Fill in the blanks : 1+1=2
United Kingdom has a party system but Soviet Union had party system.
Tt T 9
TR fhmen ¥ U elid yonelt § W Hifoed g9 | T Jomedt 1

28. Answer the following questions. 1+1=2

(i)  Which body in India is responsible for holding free and fair elections ?

(i) By which name is the election called which is held after the dissolution of the
Lok Sabha before the completion of its full term of 5 years to constitute a new
Lok Sabha.

Frfafea wei & W fafaw |

() 9Rd H &HH @ geen () w@aa IR feaer gme wam & fa Swert § 2

(i) 9 YA T hT TH | S 1R S @l 991 o 9= o6 BT hrdehiel 0 84 F T8l Tl g
1T B W TE Tk |1 % TS o foTT IS S 2

29. Answer the following questions. 1+1=2
(i)  Which Court in India can change its own previous decision.
(i) Which Court is a Court of record also ?

FrefefEd el % s fafa
() 9RA H HF i Tererd 3 fusat fo S 9ge wehdt § 2
(i) el <AAEE & THH 3T B 9§ FEred e =meEed 9t g € 2

30. Answer the following questions. 1+1=2
(i) Which Amendment gave Constitutional status to the Municipalities (Local Urban
Bodies) ?
(i) Which Court has the right of superintendence and control over all the Subordinate
Courts.
FreferfEd gei & S fafag |

() T v e & faw S 9 Gfadm deee 3 St st uee foRan 2
(i) A Y A F U TR A o STefieror SR e w6 A § 2

[E5m
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31.

32.

33.

34.

35.

Fill in the blanks : 1+1=2

(i) Gram Sabha of a Village Panchayat consists of all the residents of the
village.

(i) One-third seats of Gram Panchayat are for women.

e v Wi

() T g H e gt a3 B4 R |

(i) 7 veEmdl ¥ nfeensti & fow ww-faei Tem B B

Fill in the blanks correctly : 1+1=2

The Panchayati Raj system established in accordance with 73" amendment is a

tier structure based on elections for all the tiers.

R T Sk 9 WA

739 HfaH G o IER Tfod YRl s el W T 3Ry W F o

TAE W ARG T

Fill in the blanks : 1+1=2

Fortunately emergency has never been declared in India which can be proclaimed

under art.

e o Wi

e aRa | GeheohTel sht ST Sheft & Rl TS FTEeRt S ST =Re

% ST T S Rl B |

Fill in the blanks : 1+1=2

The Supreme Court has the jurisdiction to settle disputes between the Union

and the

e v Wi

gaied <A™ & U9 g IR % off= foere gargm = SRR T |

Answer the following questions in one word. 1+1=2

(i) How many fundamental rights have been granted to citizens of India at present ?

(i) How many freedoms have been guaranteed under the right to freedom ?
frfeiea wedil & SR T e | ife |

(i) oHH H 9RA * AR w1 foRan Hiferen AR I € 2

(i) TGl % SR & T feohea Tora=ramsii bt MRS <t T § 2

68/ESS/1-317-B | 12
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SECTION - B/@Us - B

36. State any two features of Gandhism. 2
Tieftene i ig & ferdvand et |
37. State any two Directive Principles of State Policy related to International Peace and Security. 2
ST wifd e et § Hafdd hig o I o i ez fagia &1 9oiF i |
38. Analyse any two steps taken by Government of India to protect the Environment. 2
TATER0T hl Y&T o TTT YR TR R 33T T fh=l A TeHl ol foeet®o hifsw |
39. Describe any two hindrances to Good Governance. 2x1=2
HIMEA (7% W) i forgl QU smenedi 1 v it |
40. Analyse the original jurisdiction of the Supreme Court. 2
Hated AT o ol &NTYeRR o foreetwor sife |
41. Explain any two functions of the Vice-President. 2
IRA & ST % hIg <1 1 TI HiTIT |
OR/3aT
Explain any two functions of the Cabinet.
Hi=rHeet & g < FE T HifeT |
42. Explain any two executive powers of the President of India. 2
RA o T2Ufd i Tl &1 Hrfurferen Tt SIfaal et ST HifaT |
OR/3aT
Explain any two Legislative powers of the President of India.
ORA o AL i fohgl o faemht Sifaaal sl A Shifr |
43. Analyse any two Legislative relations between Centre and States. 2
T IR Tl & o TRl 1 faumt g o1 fogeryor shifera |
OR/3aT
Analyse any two administrative relations between Centre and States.
%% 3R Tl o o= foh=l <1 TRk Herel ol foretsoT Hifey |
i
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44.

45.

46.

46.

47.

48.

49.

Analyse the importance of ‘Division of Powers’ as a feature of Indian federal system. 2

U 1 G ST hi Ueh fa9ioal o &9 | ' vfadadi & fa9H’ & Hgcd o fagervur sifse |

OR/3TeraT
Analyse the importance of supremacy of the Judiciary.

YA hi Faioadl & Hed ohl faveyor shiferg |

Explain the meaning of ‘Directive Principles of State Policy. 2
‘T o it TR Tl = arel T wifsw

OR/3aT
Explain the nature of Fundamental Duties.
Hifetsr Fdadi ot Yhfa T Hifew |

OPTIONAL MODULE - 7A
Yehfeaeh AISTA - 7A
Analyse the need for restructuring of the United Nations. 2
YK UL ok TS il SATeedhdl 1 forgeroor sifsrg |
OPTIONAL MODULE - 7B
Jehfcdeh ATSIA - 7B

Analyse the need of Independence for the Union Public Service Commission. 2
219 Tleh Tl SATANT i Tolc>iell shi SATERIRAT <l Teeivor HifsTe |
Examine the importance of Rajya Sabha in three points. 3x1=3
T |1 o Hed i d forgsll § @ Hifwa |
Explain any three environmental problems. 3
TR0 <Rl fehwgl o FHETE i T HifsT |

OR/3aT
Explain the concept of sustainable development.
eI oIehTel ohl STEYRUN i T T |
Suppose you are a candidate and contesting election to Lok Sabha. Highlight any three 3

methods that you will adopt for your election campaign.

T S o 3119 Sl T o1 918 oS ) § | 3119 379 16 TER & fu ST ST et forgl o

altehl Shl ISR ShIfSIU |
OR/3teraT

Analyse the importance of Model Code of conduct for a free and fair election.

Froa8 SR W a A6 S o AT ‘ oTeel STER Higdl’ o He ol J&Tu Shifsig |

68/ESS/1-317-B | 14
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50.

51.

52.

53.

54.

54.

Name any six regional parties of India.
9 o Tl ©: &l <efl o = forfee |

OR/3gaT
Name any six Pressure Groups active in India.

IR H 19 R @ fh<l =: gama ggel & 9m fafaw)

Explain the Kashmir issue as a problem between India and Pakistan.

FHTHR T8 ! RA IR qREIH & i< il Tk FHET & 9 § AT FHIfI |

Explain any three major concerns of India’s Foreign Policy.

AR okt forqer Hifd 1 919 @ fawaet 6t ==men ST

Explain any five differences between a State and a Nation.

Teh TF AR T UL & o & fohdl T 3= ol TIL hifTT |
OR/3TeraT

Explain any five differences between a State and other Associations.

T T qUT 3T GSA1 o sl foh=l Ui 3T oh! €I HITST |

OPTIONAL MODULE - 7A
Yehfeaeh AISTA - 7A

Describe any five objectives of the United Nations.
G T2 o fopl a3l b1 Ui hifSTT |
OPTIONAL MODULE - 7B

Yehfcdeh ATSIA - 7B

Describe any five functions of the Union Public Service Commission.

ST ek Hell SN & ol e il o1 9o hifse |
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